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Fall 2022/Chang CE 100: ary Fluid Mechanics Fall 2022

'Quiz 4 - November 7, 2022

Please label units in all calculations and write all relevant equations explicitly. Make sure the units
make sense!! BE CAREFUL!!!! You all are masters at making arithmetic errors!!!

1. The @own below has an output power of 1200 watts which results in a flowrate of
< 0.017m3/s :
a. Determine the head loss in this entire system.
b. List three potential sources for this head loss.
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Fall 2022 /Chang CE 100: Elementarv Fluid Mechanics Fall 2022

Heated water (v=1.66 x 10 ft2/s) flow through coils of a heat exchanger lying on a flat surface,
ata rate of 0.9 gal/mm The coils are made of 18 inch copper drawn tubing with a diameter 0.5
inch, connected to each other with 180° threaded return bends (each K = 1.5) as shown below.
What is the pressure drop between the inlet and the outlet of this horizontal device?

1ft3 = 7.48 gal

e 18 in. > ! Q
180° bend Q
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